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QUESTION 1

As an implementation consultant, you are required to set some approvals under Manage Employment tasks as Auto
Approve.

Which two items need to be specified while defining the BPM Worklist Rule for auto-approval?
A. Enter APPROVE in the Auto Action field.

B. Set up dynamic approval rule.

C. Enter AUTO APPROVE in the Auto Action field.

D. Set Auto Action Enabled to True.

E. Select Number of Levels as 0.

Correct Answer: AD

QUESTION 2

An employee\\'s job description is "Recruiter" as of 01-Jan-2015. This job was updated in the system to "Consultant” on
01-Feb-2015. The 01-Feb-2015 assignment record is the latest effective dated employment record in the system. On
01- Mar-2015, the HR specialist wants to view this employee\\'s previous employment details and searches for them on
the Person Management page. The HR specialist enters the effective as-of date value as 31-Jan-2015 with the search
keyword "Recruiter" because the employee was working as a recruiter on 31st Jan 2015. The search returns no rows.
What is causing this?

A. The Person Management page search does not support Job attribute keywords.

B. The Update Person Search Keyword process has associated the effective dates with the job attributes in the keyword
record resulting in search discrepancies.

C. The Update Person Search keyword process has failed on 31-Jan-2015 but ran successfully the next day.
D. The Person Management page search does not support date-effective keywords.

E. The Update Person Search Keyword process has updated the latest effective dated job attribute in the keyword
record.

F. The Update Person Search Keyword process has failed on 01-Mar-2015 but ran successfully the previous day.

Correct Answer: E

QUESTION 3
An organization wants to include a security profile in an HCM data role and then provision the data role to a user.

Identify the option which lists the HCM object types for which the security profiles can be created.
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A. Person, Organization, Position, Legislative Data Group, Location, Grade, Document Type, Payroll, Payroll Flow

B. Person, Organization, Position, Legislative Data Group, Location, Grade, Document Type, Payroll, Payroll Flow,
Workforce Business Process

C. Person, Organization, Position, Legislative Data Group, Country, Grade, Document Type, Payroll, Payroll Flow,
Workforce Business Process

D. Person, Organization, Position, Legislative Data Group, Country, Document Type, Payroll, Payroll Flow, Payroll Flow,
Workforce Business Process

Correct Answer: D

QUESTION 4

For the Change Manager transaction, the first-level approval is set to the Application Role type. The name of the
application role is HR Specialist Sales. In the Change Manager approval rule configuration, the Enable Auto Claim
option is deselected.

Which two actions take place when the transaction for manager change is initiated for employees?

A. The transaction goes into error because it was no auto-claimed.

B. The transaction has to be approved by all HR Specialist Sales representatives for it to be approved.

C. The transaction goes for approval to all the workers who inherit the HR Specialist Sales role.

D. One of the HR Specialist Sales representatives should "Claim" the transaction for it to be assigned for approval.
E. If one of the HR Specialist Sales representatives rejects the transaction, others can still approve it.

F. The transaction will be auto-claimed and assigned randomly to anyone who has the HR Specialist Sales role.

Correct Answer: CD

QUESTION 5

Your customer requires that the person number should not be generated if a request for new hire is not approved by the
approver.

Which method should be used?

A. Automatic Upon Final Save

B. Automatic Upon Final Submission
C. Automatic Prior to Final Save

D. Automatic Prior to Submission

Correct Answer: A
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